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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 11 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

i) @y AarT &/

(i) ST YH-97 H 31 I97 8 51 IR @US] — 37, &, § 3N T H faunfaa & /

(iii) @US 37 H Uh-Uk 37 dici 4 J97 8 | @US 7 7 6 97 & 574 @ 9% 2 37
FTE | @8 G F 10 I97 @F-d17 371 & & | @ ¢ H 11 ¥97 3 574 @ 39%
4 3% FTE |

(iv) PHAPAR] BT JTIT FH BI 377AIT TETE /|

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iti) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A
SECTION A

Y97 G&IT] 4 T I3 J97 1 376 HT & |

Question numbers 1 to 4 carry 1 mark each.

1. afe fgema afie 6x2 —x—k =0 wwug%%,a‘rkwmaﬁﬁﬁml

If one root of the quadratic equation 6x? — x — k = 0 is %, then find the

value of k.
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2. UH 15 . el Hidt SR % WA 60° 1 BV A & | 39 foreg <l FEg 7
I STaT Ht S 1 TRl w2 |

A ladder 15 m long makes an angle of 60° with the wall. Find the height
of the point where the ladder touches the wall.

8. 9. x 8. x 2 . fawsti arer 91g % UH W A i gt 2 @, qS
% 39 T4 § ST T 2 | 39 YhR &4 41 shl T&IT [ hIfST |

A solid metallic cuboid of dimensions 9 mx8 mx2m is melted and

recast into solid cubes of edge 2 m. Find the number of cubes so formed.

4.  O%=% 941 QORI % Tk gd W TF a1 fog P § Txid@n PQ @i T3
8| I £ POR=120°%, @ ~ OPQ 3! A =T & ?

PQ is a tangent drawn from an external point P to a circle with centre
O, QOR is the diameter of the circle. If £~ POR = 120°, what is the
measure of £ OPQ ?

Qs d
SECTION B

97 G&IT5 & 10 7% 9% J97 2 bl FT & |
Question numbers 5 to 10 carry 2 marks each.

5. x% foIC gt shifT
V3x2 +10x—8+4/3 =0
Solve for x :

\/§X2 +10x-8+/3 =0

6. I T TUTR A<t % 7d UG 1 TIA AT 3Hb 119 Ug % FIRE A o S 7,
ql 3TeRT 184T Ue T B ?

If seven times the 7! term of an A.P. is equal to eleven times the 11th

8th

term, then what will be its 18" term ?

30/2/1 3 P.T.O.
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7. < fafS= ol st U @ Hehl T | WS HEATST 1 UHT 18 H HH B hl
TTTehdT FTd <hIfSTY |

Two different dice are thrown together. Find the probability that the
product of the numbers appeared is less than 18.

8. A U THIX IqA & < HA I (3, 2) T (-1, 0) & AT 3k forehul
(2, — 5) W Y=g Hd &, df 317 g1 it < Feme 7 Hifv |
If two adjacent vertices of a parallelogram are (3, 2) and (- 1, 0) and the

diagonals intersect at (2, — 5), then find the coordinates of the other two

vertices.

9. & TS oTpfd H, Afg AB = AC ®, @ fag Hifst f% BE = EC.

A
D F
B E C
In the given figure, if AB = AC, prove that BE = EC.
A
D F
B E C

10. U AfYay (<fiv a¥) § 53 WITaR g <t ITiRekdT F1d I |
Find the probability that in a leap year there will be 53 Tuesdays.
30/2/1 4
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Qs |
SECTION C

J97 &7 11 & 20 TF Y9 J97 3 3Hl FT & |

Question numbers 11 to 20 carry 3 marks each.

11.

12.

13.

14.

30/2/1

afe fgema @fie (a —b)x2 + (b—c)x + (c — a) = 0 % I THH &, a1 g
HIfT fF 2a =b + c.

If the roots of the quadratic equation (a — b) x2+(b-c)x+(c—a)=0are
equal, prove that 2a =b + c.

frafafaa oft 1 Frea wa I
5+4(-41)+9+(-39)+13+(-371)+17+...+(—=5)+ 81 + (- 3)
Find the sum of the following series :
5+(-4D)+9+(-39+13+ (-3 +17+...+(-5)+81 +(-3)

U HAR Fi TRt wmg it srn, 39 R i 1 T 2 9 g S 3FE S
60° 2 | st BT % THT G T IAIT IV FA HIT |

The shadow of a tower at a time is three times as long as its shadow
when the angle of elevation of the sun is 60°. Find the angle of elevation

of the sun at the time of the longer shadow.

fargati (3, —2) @ (- 3, —4) = TEH at {@rETe H FHEWNG T 9
forgatt & frdemes s i |

Find the coordinates of the points of trisection of the line segment joining
the points (3, — 2) and (- 3, — 4).

5 P.T.O.
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15. @ T 3rfd #, PA 9o PB T wr@ fomg P @ 90 il ewi@d €, <l
PA = 4 9} 9971 ~ BAC = 135°® | Sfila1 AB &l &8 J1d shifag |

In the given figure, PA and PB are tangents to a circle from an external

point P such that PA = 4 cm and £ BAC = 135°. Find the length of chord
AB.

16. fag Afe 5 g0 & wfor st =qys 1 - A gl 99 F Hg W

G 10T JaRd el & |

Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

30/2/1 6
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@ T ARG H, ABCD Us HHaE =gyd, (Eh YSU AB = 18 @i,
DC =32%H, AB || DCTAM ABT AC &9l 1 gt 1451 g 1 AC A, B, C T
D ! sheg ot 7 At T B & = ©i" 7§, 9 Sifed 9HT o &%
T SHIT |

D 32 @i

A 18 ot B

In the given figure, ABCD is a trapezium with AB || DC, AB = 18 cm,
DC = 32 ecm and the distance between AB and AC is 14 cm. If arcs of

equal radii 7 ecm taking A, B, C and D as centres, have been drawn, then
find the area of the shaded region.

D 32 cm

A 18 cm B

TS 3 -G W hl BISAT 3R =g T 9 5: 127 | AfG 391 3R
314 99 G &1, T 51 GFUT TN &FABA HG T | [1 = 3-14 AT

The radius and height of a solid right circular cone are in the ratio of
5 :12. If its volume is 314 cm3, find its total surface area. [Take m = 3-14]

7 P.T.O.
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19. @ TS ST H, A ABC, 3 TS Y1 H1 Th GHeTg S B | 36 3= o1 I
% fceTe Fa Hife |

AY

X 0 > X
A (2,0 B

Y/ v

In the given figure, A ABC is an equilateral triangle of side 3 units. Find
the coordinates of the other two vertices.

AY C

A (2,0) B

20. fag fifve % Bys ABC fms sfid A (-2, 0), B(0, 2) @1 C (2, 0) %,
A DEF f5&% 3fi¥ D (- 4, 0), F (4, 0) 92T E (0, 4) 8, % 9H&Y 3 |

Show that A ABC with vertices A (— 2, 0), B (0, 2) and C (2, 0) is similar to
A DEF with vertices D (— 4, 0), F (4, 0) and E (0, 4).

30/2/1 8
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LG L
SECTION D

J97 &I 21 & 31 TF 9% Jo7 4 3H FT & |

Question numbers 21 to 31 carry 4 marks each.

21.

22,

23.

24.

25.

30/2/1

Tl I AT LA B | 3eh &ABAl Bl AMTHA 116 737 THY g qAT b hrgil
o = i gl 6 4t B | ol i B s i |

Two circles touch internally. The sum of their areas is 116 &t cm? and the
distance between their centres is 6 cm. Find the radii of the circles.

e 1+4+7+10+...+x =287 B, A x &l A J1d T |
If1+4+7+10+...+x =287, find the value of x.

35 9 5 ufl BAreti % Q@ Hehg ga Wifuw | 9@ g9 W T fag et
3d: g9 W & TqRI-@rsti il A1 I |

Draw two concentric circles of radii 3 cm and 5 cm. Taking a point on the
outer circle, construct the pair of tangents to the inner circle.

7 . 39 T Had hI =1 ¥ Tk HHAR & R &1 IFIT I 60° 9T 39k
T 1 3TIEA IV 45° 2 | HIMR hl =18 4 HIfTT | [J/3 = 1-732 T
CIIELY

From the top of a 7 m high building, the angle of elevation of the top of a
tower is 60° and the angle of depression of its foot is 45°. Find the height
of the tower. [Use +/3 = 1-732]

T §F T 90 fe&F (Discs) &, 9 W 18 90 I T 2Afhd 2 (Th feeh
W TH TN | A 39 g H ¥ U e agesan el S ', @ g@eh!
TiRehar 3 shifvie fof 3@ femr W 2Afera Brft () @ 3Tl HI T g,
(ii) 5 | faursar T T |

A box contains 90 discs which are numbered from 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears (i) a
two-digit number, (i1) a number divisible by 5.

9 P.T.O.
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28.

29.

30.
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3 Hi. = 1 TH FHIAT 14 H. TEE q @ial T | e Hewredt 1§ g
5. =€l T gAThR 90 (Ring) 9 % 70 ¥0H €9 9 S T q1 Th
TR 1 ST SHT T | 39 919 H1 SHA1s [1d I |

A well of diameter 3 m is dug 14 m deep. The soil taken out of it is spread

evenly all around it to a width of 5 m to form an embankment. Find the
height of the embankment.

fog HifvE o6 & s forg & o9 W Ei= T Q& i@ 1 awrsal q9H
Bl & |

Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

50 Ht. x 40 ™. fameT It TH SIAHR b § Tsh AR dTae o7 8,
o8 a1 & 9/ TR g9 wieTE 6l S 9T Y ggt T &% 1184 o 1.
2 | dreITe < AR qAT 9SS F1d hIfeT |

In a rectangular park of dimensions 50 m x 40 m, a rectangular pond is

constructed so that the area of grass strip of uniform width surrounding
the pond would be 1184 m?. Find the length and breadth of the pond.

w T B R 7. o % aw AR 1w 07 M. e & e @ R
B B | 30 TE W diHe H H @9 7 hifv, e seehl @nma g ai A,
Z 110% |

A park is of the shape of a circle of diameter 7 m. It is surrounded by a

path of width of 0-7 m. Find the expenditure of cementing the path, if its
cost is ¥ 110 per sq. m.

20 T S TH 91q % -G T, [EHT 3 HI 60° 7, HI FHh YR
% GHTI Toh A ¢RI 3Hehl Sa18 o HET § @ W H el Sl g | Ife 39

ehI STed BT foaeh %@Tﬁwm%m%mﬁaﬁmm,?ﬁm
& oEETs {1 I |

A metallic right circular cone 20 cm high and whose vertical angle is 60°

is cut into two parts at the middle of its height by a plane parallel to its
base. If the frustum so obtained be drawn into a wire of uniform diameter

% cm, find the length of the wire.
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T gl qget fed ST9 S9a 1 U Ui9-¥9C Sl et oot § STAdl 8 | 98
gfafen eroft s & wiw-eq % foas 1 Ui wh-uh Ferdt ? | A oo #
Ui9-¥90 % P 190 f&aeh 31 Fehd @i, Al Fd hie fh a8 fhad fea @
Teae | U9-89T o Tk STT Hehdl 8 QAT 3UA Hel fohaT O =R |

9 ST h 3Med W 379 fo=m fafem |

A child puts one five-rupee coin of her saving in the piggy bank on the
first day. She increases her saving by one five-rupee coin daily. If the
piggy bank can hold 190 coins of five rupees in all, find the number of
days she can continue to put the five-rupee coins into it and find the total

money she saved.

Write your views on the habit of saving.
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